BRE4S (B8R

(15FT)

(t4)

A KO

TERE28FEE
B ILTHIEEHR

T2 E B E M (OAMMR - H35) BEA (BLESTH)

ik

xR

%III

LEROMRBEEICRIBLOBRE. ROEEYTH S,

ZHEMR =

A # EF L £ 1 M= £ 2 & EALRE
AfL&E | NEE| ARLEE@ | JEM
SRR |
NEWS*('?*('Q‘;-’.FH*&EH S
BRai—WE ?;_
T ——

A TR TR R BILE R

#R LU mATEER L4 —SILEBR

« LIRSEIZ1005 DBITENT HEEMB LS ELLBETHD.

it (k) IR 2 i) ]
X MR T 2R RSB T D,
AHERB TR28F3F28H ( 9E500%3 )
AFLIEFRT B8 ILUHEH BETFEIE F5REE
(e A ==



v’

OARIMR- B3R (1) R E B B-mo 7 -
No. SR 2 U (REEFNER| NEwsA YA SR giﬁ%*i—éﬁi ﬁ_@;‘iﬁﬁ% ﬁigtji?(;ﬁ%;)(é %ﬁgg;ﬁ?%
L= KRR LW ZEF5FT
1 |OAR#EK(A3) /oo {, 120 2,000 6@ /, %o
2 |OAR#K(B4) 5, 009 2,089 | 3400 @ 1,9 8o
3 |OARB#K(A4) | 400 /4]0 [, o0 [,3%0 6_3}
4 |CD-R @ L6 o 470 480
5 |CD-RW *1{}9. ¢ o / @ N9o
6 |A—JLAK 4,890 3. 49 4,350 4 300
7 |B—IU#K 3,300 2-, 3 3, /129 3,290
8 [JVISTRARAS— m /12,30 12, oo | 12,820
9 |[YVISTRTRE— ;‘;5 o) 11, koo I, boo | 11,320
10|VVISIRAY {\}'@9 T 4 5,990 | 3,900
=3 @ N
T{RF—p—bUs| (o 440 $i8oo | (4 fod
12 |FF—h—hUZ@®| g 4 389 €90, b €90
13|NECTY> M —| g (o @ 6,360 | 4,390
14 |z7ve70 85 —091om) 8 oo "o 8.4qo0 §, 300
15 [#rsotr—n—tusswmson I, o5 0 (’éf—;} /o, )§o /o, |00
16 [MF—n—tuvs®® | o) 1o q:,‘Fr;E;} 20, Joo 19 900
17 |Fr—n—tyvi(rzo—) 32, ®00 \Jw’gj;:) 21/ s 21,800
18 {F=p=rh it 35, s rq/; Q,’ 2,700 | 21, 8o
19 [Fr—n—tuss o7 - dhs ’l;, ;;o 21,00 2],8¢e09
20 [A A—TRSLE) i, 000 7;,22_(, IS, 4a0 "rl_?_ f_?_sr.f"
21 [=ssnza—m | (0 ooy 1T,220 13, oo /;,00\9
22 [tr—sksnEB| (7 oo ji5, 355 ) §, 4oo /;;oo
23 |4 A—SKSLE T T oea 1§, 220 1 8, 4oo [i{i:;:\?

C O WHAURARA 2R




F 7 fili 48 58 = 51 HR Gh
ke fe | %) wenroosm

1 OAFRR#E(A3) 450 | 8 1,700
) OAR#(B4) 450 | %5 2,000
5 OAF#E(A4) 3,500 | #8 1,400
] CD-R 100 | {& 430
5 CD-RW 30| & 780
5 O—JL4R 15 X 4,460
. O— /LK 15| K 3,200
g I STRIRE— 130 | #& 12,500
. VITSTRTRE— 100 | 8 11,500
- UITSTRAVY 350 | %8 5,800
- Fr—h—k)wI(R) 5( & 5,800
i r—A—kJyI(R) 50 | & 7,500
3 NECT > BbhF— 10| X 7,800
. IFV )3 F—(JFA10)IL) 25| K 8,300
N j;r}{/‘)zhf—ﬁ—bl)vﬁ(')ﬂ 25| & 9.980
6 bF—Hh—k)y (R 50| & 20,000
. br—h—k)yi(4TR—) M 40 X 21,900
- br—h—byP (xR 40 & 21,900
" bF—h—kJyD (T 40 X 21,900
2 AA—=DRT LR 30| K 15,300
” AA—CRSL(ATO—) 20| A& 15,300
’y AA—DRSL(REA) i 20| & 15,300
AA—=DRSL(DT) 20| & 15,300

23




